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1. The main source of energy in an

ecosystem is :

(A) ATP

(B) Sunlight

(C) D.N.A

(D) R.N.A

2. A group of individuals of a plant

or animal species, inhabiting a

given area is called :

(A) Biome

(B) Population

(C) Ecosystem

(D) Community

3. Conservation within the natural

habitat is :

(A) In-situ conservation

(B) Ex-situ conservation

(C) In-vivo conservation

(D) Ex-vivo conservation

4. The cutting down of trees is termed

as :

(A) Forestation

(B) Plantation

(C) Deforestation

(D) Biodiversity

1. ikfjfLFkfrdh ra= esa ÅtkZ dk eq[; lzksr

gS %

(A) ,Vhih

(B) lw;Z dk izdk'k

(C) Mh-,u-,-

(D) vkj-,u-,-

2. fdlh fn, x, {ks= esa jgus okys ikS/ks ;k

i'kq iztkfr ;k O;fDr;ksa ds lewg dks dgk

tkrk gS %

(A) ck;kse

(B) tula[;k

(C) ikfjfLFkfrdh ra=

(D) leqnk;

3. izkÏfrd vkokl ds Hkhrj laj{k.k gS %

(A) bu&lhVw laj{k.k

(B) ,Dl&lhVw laj{k.k

(C) bu&fooks laj{k.k

(D) ,Dl&fooks laj{k.k

4. isM+ksa dh dVkbZ dks dgk tkrk gS %

(A) ouhdj.k

(B) o{̀kkjksi.k

(C) fuoZuhdj.k

(D) tSo&fofo/krk
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5. The natural place of an organism or

community is known as :

(A) Niche

(B) Biome

(C) Habitat

(D) Habit

6. Plants are also regarded as .......... .

(A) Flora

(B) Fauna

(C) Flower

(D) None of the above

7. The variety among species and

within species is known as :

(A) Diversity

(B) Deduction

(C) Reduction

(D) Informatics

8. Soil conservation is the process

where :

(A) Soil is aerated

(B) Soil is protected against loss

(C) Sterile soil is converted to

fertile soil

(D) Soil erosion is allowed

5. fdlh tho ;k leqnk; dk izkÏfrd LFkku

dgykrk gS \

(A) fu'k

(B) ck;kse

(C) izkÏfrd olk

(D) gSfcV

6. ikS/kksa dks ------------- Hkh ekuk tkrk gSA

(A) ¶yksjk

(B) Q+kSuk

(C) ¶ykoj

(D) buesa ls dksbZ ugha

7. iztkfr;ksa ds chp vkSj iztkfr;ksa ds Hkhrj ds

izdkj dks dgk tkrk gS %

(A) fofo/krk

(B) dVkSrh

(C) deh

(D) lwpuk foKku

8. e`nk laj{k.k og izfØ;k gS ftlesa %

(A) feêh okfrr gksrh gS

(B) feêh dks uqdlku ls cpk;k tkrk gS

(C) catj feêh mitkÅ feêh essa ifjo£rr

gks tkrh gS

(D) e`nk vijnu dh vuqefr gS
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9. Soil erosion can be prevented by :

(A) Afforestation

(B) Overgrazing

(C) Increasing birds population

(D) Removal of vegetation

10. Energy produced by hydel-power

plant is :

(A) Non-polluting and non-

renewable

(B) Polluting and non-renewable

(C) Non-polluting and renewable

(D) Polluting and renewable

11. Which one of the following is an

example of nonrenewable

resource ?

(A) Water

(B) Vegetation

(C) Wind

(D) Coal and minerals

9. e`nk vijnu dks jksdk tk ldrk gS %

(A) ouhdj.k

(B) vR;f/kd pjkbZ

(C) if{k;ksa dh c<+rh vkcknh

(D) ouLifr dks gVkuk

10. ty fo|qr la;a= }kjk mRikfnr ÅtkZ

gS %

(A) xSj&iznw"k.kdkjh vkSj xSj&uohdj.kh;

(B) iznw"k.kdkjh vkSj xSj&uohdj.kh;

(C) xSj&iznw"k.kdkjh vkSj uohdj.kh;

(D) iznw"k.kdkjh vkSj uohdj.kh;

11. fuEufyf[kr esa ls dkSu lk vuohdj.kh;

lalk/ku dk mnkgj.k gS \

(A) ty

(B) ouLifr

(C) ok;q

(D) dks;yk ,oa [kfut
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12. What are the three R’s to save the

environment ?

(A) Reduce, Recycle, Reuse

(B) Replenish, Reduce, Reuse

(C) Reconstruct, Recycle, Reduce

(D) Reduce, Recycle, Remove

13. Ozone depletion in the stratosphere

will cause :

(A) Increase incidence of skin

cancer

(B) Forests fire

(C) Global warming

(D) Soil erosion

14. The organisms which feed on dead

organisms and excreta of living

organisms are known as :

(A) Decomposers

(B) Consumers

(C) Producers

(D) Carnivores

15. Day celebrated on July 11 is :

(A) World Environment Day

(B) World Population Day

(C) World AIDS Day

(D) World Education Day

12. i;kZoj.k dks cpkus ds fy, rhu vkj D;k

gSa \

(A) jsM~;w'k] jhlk;dy] fj;wt

(B) jsIysfu'k] jsM~;w'k] fj;wt

(C) fjdULkVªDV] jhlk;dy] jsM~;w'k

(D) jsM~;w'k] jhlk;dy] fjewo

13. lerki e.My esa vkstksu {k; dk dkj.k

gksxk %

(A) Ropk dSalj dh ?kVukvksa esa o`f¼

(B) taxyksa esa vkx yxuk

(C) Xykscy ok²ex

(D) e`nk vijnu

14. e`r thoksa rFkk thfor thoksa ds eyew= dks

[kkus okys thoksa dks tkuk tkrk gS %

(A) Mhdaikstj

(B) miHkksDrk

(C) mRiknd

(D) ekalkgkjh

15. 11 tqykbZ dks euk;k tkus okyk fnol gS %

(A) fo'o i;kZoj.k fnol

(B) fo'o tula[;k fnol

(C) fo'o ,M~l fnol

(D) fo'o f'k{kk fnol
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16. Formation of hole in Ozone is

maximum over :

(A) India

(B) Europe

(C) Antarctica

(D) Africa

17. Which of the following statement is

TRUE ?

(A) Eco-Systems may vary in size

(B) Eco-Systems are always very

large

(C) Eco-Systems are always very

small

(D) None of these is true

18. An example of e-waste is :

(A) Paper

(B) Plastic

(C) Industrial effluent

(D) Mobile phone

19. BOD stands for :

(A) Biotic oxidation demand

(B) Biological oxygen demand

(C) Biological oxidation demand

(D) Biochemical oxidation

demand

16. vkstksu esa fNæ dk fuekZ.k lokZf/kd gks

x;k gS %

(A) Hkkjr

(B) ;wjksi

(C) vaVkdZfVdk

(D) vÝ+hdk

17. fuEufyf[kr esa ls dkSu lk dFku lR; gS\

(A) bdks&flLVe vkdkj esa fHkUu gks ldrs

gSa

(B) bdks&flLVe ges'kk cgqr cM+s gksrs

gSa

(C) bdks&flLVe ges'kk cgqr NksVs gksrs

gSa

(D) buesa ls dksbZ Hkh lR; ugha gS

18. bZ&dpjs dk ,d mnkgj.k gS %

(A) dkxt

(B) IykfLVd

(C) vkS|ksfxd vif'k"V

(D) eksckby Qksu

19. chvksMh dk vFkZ gS %

(A) ck;ksfVd vkWDlhMs'ku fMekaM

(B) ck;ksykWftdy vkWDlhtu fMekaM

(C) ck;ksykWftdy vkWDlhMs'ku fMekaM

(D) ck;ksdSfedy vkWDlhMs'ku fMekaM
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20. Red data book contains data of :

(A) All plant species

(B) All animal species

(C) Endangered/Threatened species

(D) Economically important species

21. ‘Minamata disaster’ in Japan was

caused by Pollution due to  :

(A) Lead

(B) Mercury

(C) Cadmium

(D) Zinc

22. The NGT Stands for :

(A) Non-Government Trust

(B) National Green Tribunal

(C) National Green Trust

(D) National Green Theory

23. The continuous circulation of water

between ocean, atmosphere and

land is represent :

(A) Water Cycle

(B) Oxygen Cycle

(C) Land Cycle

(D) None of the above

20. jsM MsVk cqd esa fuEu dk MsVk gksrk gS %

(A) lHkh ikS/kksa dh iztkfr;k¡

(B) lHkh i'kq iztkfr;k¡

(C) yqIrizk;@ladVxzLr iztkfr;k¡

(D) vk£Fkd n`f"V ls egRoiw.kZ iztkfr;k¡

21. tkiku esa ^feuekrk vkink* fdl iznw"k.k

ds dkj.k gqbZ Fkh %

(A) lhlk

(B) ikjk

(C) dSMfe;e

(D) ftad

22. ,uthVh dk vFkZ gS %

(A) ukWu xouZesaV VªLV

(B) us'kuy xzhu fVªC;wuy

(C) us'kuy xzhu VªLV

(D) us'kuy xzhu F;ksjh

23. egklkxj] ok;qe.My vkSj Hkwfe ds chp

ty dk fujarj ifjlapj.k n'kkZrk gS %

(A) ty pØ

(B) vkWDlhtu pØ

(C) Hkwfe pØ

(D) buesa ls dksbZ ugha
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24. Full form of IPCC is :

(A) Intergovernmental Panel on

Climate Change

(B) International Panel on

Climate Change

(C) Intercontinental Panel on

Climate Change

(D) None of these

25. Hepatitis A is what kind of

disease ?

(A) Food contamination

(B) Water-borne disease

(C) Air-borne disease

(D) Both (A) and (B)

26. Name the sea that is commonly

referred to as an oceanic desert :

(A) Sargasso Sea

(B) Red Sea

(C) Sea of Japan

(D) Arabian Sea

24. vkbZihlhlh dk iw.kZ :i gS %

(A) baVjxouZesaVy iSuy vkWu DykbesV

psat

(B) baVjus'kuy iSuy vkWu DykbesV

psat

(C) baVjdkWfUVusaVy iSuy vkWu DykbesV

psat

(D) buesa ls dksbZ ugha

25. gsisVkbfVl , fdl izdkj dh chekjh gS \

(A) [kk| lanw"k.k

(B) ty&tfur jksx

(C) ok;q tfur jksx

(D) (A) rFkk (B) nksuksa

26. ml leqæ dk uke crkb, ftls vkerkSj ij

leqæh jsfxLrku dgk tkrk gS %

(A) ljxklks lkxj

(B) yky lkxj

(C) tkiku dk lkxj

(D) vjc lkxj



A–1108 VAC–09 ( 10 ) P.T.O.

27. The environment which has been

modified by human activities is

called ?

(A) Natural environment

(B) Anthropogenic environment

(C) Modem environment

(D) Urban environment

28. Which of the following statements

is not true ?

(A) Inorganic nutrients are

recycled in an ecosystem

(B) Energy flows through the

ecosystem in the form of

C-C bonds

(C) Energy is recycled in an

ecosystem

(D) Respiration process releases

energy

29. The largest reservoir of nitrogen

in our planet is :

(A) Ocean

(B) Atmosphere

(C) Biosphere

(D) Fossil fuels

27. og i;kZoj.k ftls ekuoh; xfrfof/k;ksa }kjk

la'kksf/kr fd;k x;k gS] dgykrk gS %

(A) izkÏfrd okrkoj.k

(B) ekuotfur okrkoj.k

(C) ekWMse okrkoj.k

(D) 'kgjh okrkoj.k

28. fuEufyf[kr esa ls dkSu lk dFku lR; ugha

gS \

(A) vdkcZfud iks"kd rRoksa dks ,d

ikfjfLFkfrdh ra= esa iquoZohuhdj.k

fd;k tkrk gS

(B) ÅtkZ lh&lh ckaM ds :i esa

ikfjfLFkfrdh ra= ds ek/;e ls

cgrh gS

(C) ikfjfLFkfrdh ra= esa ÅtkZ dk

iqupZØ.k gksrk gS

(D) 'olu izfØ;k ls ÅtkZ fudyrh gS

29. gekjs xzg ij ukbVªkstu dk lcls cM+k Hk.Mkj

gS %

(A) egklkxj

(B) ok;qe.My

(C) thoe.My

(D) thok'e b±/ku
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30. A liquid fuel that was formed from

the ancient remains of sea plants

and animals is :

(A) Natural gas

(B) Petroleum

(C) Geothermal energy

(D) Coal

31. Zoological Survey of India is at :

(A) Delhi

(B) Mumbai

(C) Kolkata

(D) Chennai

32. Who among the following is

commonly called ‘Bird Man of

India’ ?

(A) Salim Ali

(B) M.S. Swaminathan

(C) M.C. Mehta

(D) Raphel Emerson

30. ,d rjy b±/ku tks leqæh ikS/kksa vkSj tkuojksa

ds izkphu vo'ks"kksa ls cuk Fkk %

(A) izkÏfrd xSl

(B) isVªksfy;e

(C) Hkw&rkih; ÅtkZ

(D) dks;yk

31. Hkkjrh; izk.kh foKku losZ{k.k fLFkr gS %

(A) fnYyh

(B) eqEcbZ

(C) dksydkrk

(D) psUubZ

32. fuEufyf[kr esa ls fdls vkerkSj ij ^cMZ

eSu vkWQ bf.M;k* dgk tkrk gS \

(A) lyhe vyh

(B) ,e-,l- LokehukFku

(C) ,e-lh- esgrk

(D) jkQsy ,elZu
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33. The Red Data book which lists

endangered species is maintained

by :

(A) UNO

(B) WHO

(C) IUCN

(D) WWF

34. An example of non-biodegradable

pollutant is :

(A) Sewage

(B) Plastic

(C) Vegetable waste

(D) None of these

35. Which one of the following gases

causes of acid rain ?

(A) Hydrogen

(B) Sulphur dioxide and nitrogen

dioxide

(C) Methane

(D) Carbon dioxide

36. CPCB is situated at :

(A) Mumbai

(B) Delhi

(C) Dehradun

(D) Kolkata

33. yqIrizk; iztkfr;ksa dks lwphc¼ djus okyh

jsM MsVk cqd dk j[kj[kko fdlds }kjk

fd;k tkrk gS \

(A) ;w-,u-vks-

(B) MCY;w-,p-vks-

(C) vkbZ-;w-lh-,u-

(D) MCY;w-MYC;w-,Q-

34. xSj&ck;ksfMxzsMscy iznw"kd dk ,d mnkgj.k

gS %

(A) lhost

(B) IykfLVd

(C) lCth dk dpjk

(D) buesa ls dksbZ ugha

35. fuEufyf[kr esa ls dkSu lh xSl vEyh;

o"kkZ dk dkjd gS \

(A) gkbMªkstu

(B) lYQj MkbvkWDlkbM vkSj ukbVªkstu

MkbvkWDlkbM

(C) ehFksu

(D) dkcZu MkbvkWDlkbM

36. lhihlhch fLFkr gS %

(A) eqEcbZ

(B) fnYyh

(C) nsgjknwu

(D) dksydkrk
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37. Tobacco opposition day is on :

(A) 5 May

(B) 6 July

(C) 31 May

(D) 20 October

38. International day for the

preservation of the Ozone layer is

celebrated every year :

(A) 21st March

(B) 16th September

(C) 5th June

(D) 2nd February

39. What is the disadvantage of

population explosion ?

(A) Extra burden on Natural

Resources

(B) Unemployment

(C) Pollution

(D) All of the above

37. rEckdw fojks/k fnol gS %

(A) 5 ebZ

(B) 6 tqykbZ

(C) 31 ebZ

(D) 20 vDVwcj

38. vkstksu ijr ds laj{k.k ds fy, varjkZ"Vªh;

fnol gj o"kZ euk;k tkrk gS %

(A) 21 ekpZ

(B) 16 flrEcj

(C) 5 twu

(D) 2 Qjojh

39. tula[;k foLQksV ls D;k gkfu gS \

(A) izkÏfrd lalk/kuksa ij vfrfjDr

cks>

(B) csjkstxkjh

(C) iznw"k.k

(D) mijksDr lHkh
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40. The Water (Prevention and Control

of Pollution) Act was enacted in :

(A) 1971

(B) 1991

(C) 1974

(D) 1982

41. Green plants are called :

(A) Producer

(B) Consumer

(C) Decomposer

(D) None of these

42. Which of the following is example

of environment friendly energy ?

(A) Solar Energy

(B) Wind Energy

(C) Both (A) and (B)

(D) None of the above

43. The unit of temperature is :

(A) °C

(B) °F

(C) Both (A) and (B)

(D) None of the above

40. ty (iznw"k.k dh jksdFkke vkSj fu;a=.k)

vf/kfu;e vf/kfu;fer fd;k x;k Fkk %

(A) 1971

(B) 1991

(C) 1974

(D) 1982

41. gjs ikS/ksksa dks dgk tkrk gS %

(A) mRiknd

(B) miHkksDrk

(C) Mhdaikstj

(D) buesa ls dksbZ ugha

42. fuEufyf[kr esa ls dkSu lk i;kZoj.k vuqdwy

ÅtkZ dk mnkgj.k gS \

(A) lkSj ÅtkZ

(B) iou ÅtkZ

(C) (A) rFkk (B) nksuksa

(D) buesa ls dksbZ ugha

43. rkieku dh bdkbZ gS %

(A) °C

(B) °F

(C) (A) rFkk (B) nksuksa

(D) buesa ls dksbZ ugha
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44. Who is associated with ‘Chipko

Movement’ ?

(A) Salim Ali

(B) Gaura Devi

(C) Rachel Carson

(D) None of these

45. High growth rate of human

population is called :

(A) Growing population

(B) Natality

(C) Overpopulation

(D) Population explosion

46. Which amongst the following is a

primary consumer ?

(A) Bacteria

(B) Deer

(C) Tiger

(D) Vulture

44. ^fpidks vkUnksyu* ls dkSu lEcfU/kr

gS \

(A) lyhe vyh

(B) xkSjk nsoh

(C) jkgsy dklZu

(D) buesa ls dksbZ ugha

45. ekuo tula[;k dh mPp òf¼ nj dgykrh

gS %

(A) c<+rh tula[;k

(B) uSVfyVh

(C) vR;f/kd tula[;k

(D) tula[;k foLQksV

46. buesa ls dkSu izkFkfed miHkksDrk gS \

(A) fo"kk.kq

(B) fgju

(C) phrk

(D) fx¼
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47. Which of these layers of the

atmosphere consists of the ozone

layer that is responsible for

absorbing the Ultra-Violet (UV)

light ?

(A) Troposphere

(B) Mesosphere

(C) Stratosphere

(D) None of these

48. An extensive number of chains

interlinked in an ecosystem forms

a ............. together.

(A) Food chain

(B) Carbon cycle

(C) Food web

(D) Nitrogen cycle

49. Blue revolution is related to :

(A) House

(B) Fish production

(C) Cotton production

(D) Milk production

47. ok;qe.My dh buesa ls dkSu lh ijr

vkstksu ijr ls cuh gS tks ijkcSaxuh (;woh)

izdk'k dks vo'kksf"kr djus ds fy, ftEesnkj

gS \

(A) {kkse e.My

(B) e/; e.My

(C) lerki e.My

(D) buesa ls dksbZ ugha

48. ,d ikfjfLFkfrdh ra= esa vkil esa tqM+h

J`a[kykvksa dh ,d foLr`r la[;k ,d lkFk

feydj ,d ------------ cukrh gSA

(A) [kk| Üka`[kyk

(B) dkcZu pØ

(C) [kk| tky

(D) ukbVªkstu pØ

49. uhyh ØkfUr lEcfU/kr gS %

(A) ?kjksa ls

(B) eRL; mRiknu ls

(C) dikl mRiknu ls

(D) nqX/k mRiknu ls
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50. Which year was declared as

International Year of Biodiversity ?

(A) 2002

(B) 2010

(C) 2020

(D) 1972

51. Which of these gases is not

permitted to be released by the

Prevention and Control of Pollution

Act by the Government ?

(A) Sulphur Dioxide

(B) Carbon Monoxide

(C) Nitrogen Oxide

(D) All of the above

52. Which one of the following

elements can lead to numerous

fatal diseases if present in the

drinking water ?

(A) Phosphorus

(B) Calcium

(C) Arsenic

(D) None of the above

50. fuEu esa ls dkSu lk o"kZ varjkZ"Vªh;

ikfjfLFkfrdh o"kZ Fkk \

(A) 2002

(B) 2010

(C) 2020

(D) 1972

51. ljdkj }kjk iznw"k.k fuokj.k ,oa fu;a=.k

vf/kfu;e ds rgr buesa ls fdl xSl dks

NksM+us dh vuqefr ugha gS \

(A) lYQj MkbvkWDlkbM

(B) dkcZu eksuksvkWDlkbM

(C) ukbVªkstu vkWDlkbM

(D) mijksDr lHkh

52. fuEufyf[kr esa ls dkSu lk rRo ihus ds

ikuh esa ekStwn gksus ij dbZ ?kkrd chekfj;ksa

dk dkj.k cu ldrk gS \

(A) QkLQksjl

(B) dSfY'k;e

(C) vklsZfud

(D) mijksDr esa ls dksbZ ugha
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53. Fauna is a term for :

(A) Plants

(B) Viruses

(C) Animals

(D) Microbes

54. An ecosystem consist of :

(A) Green Plants Only

(B) Consumers Only

(C) Decomposers Only

(D) All of these

55. The first national park of India is

situated in :

(A) Assam

(B) Madhya Pradesh

(C) Tamil Nadu

(D) Uttarakhand

56. Energy from the heat inside the

earth is :

(A) Natural gas

(B) Geothermal

(C) Petroleum

(D) None of these

53. QkSuk 'kCn gS %

(A) ikS/ks ds fy,

(B) fo"kk.kqvksa ds fy,

(C) tUrqvksa ds fy,

(D) lw{ethoksa ds fy,

54. ,d ikfjfLFkfrdh ra= esa 'kkfey gS %

(A) dsoy gjs ikS/ks

(B) dsoy miHkksDrk

(C) dsoy Mhdaikstj

(D) mijksDr lHkh

55. Hkkjr dk izFke jk"Vªh; m|ku fLFkr

gS %

(A) vle esa

(B) e/; izns'k esa

(C) rfeyukMq esa

(D) mÙkjk[k.M esa

56. i`Foh ds vanj dh Å"ek ls ÅtkZ gS %

(A) izkÏfrd xSl

(B) Hkwrkih;

(C) isVªksfy;e

(D) buesa ls dksbZ ugha
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57. gok esa ueh dks dgk tkrk gS %

(A) ty

(B) dksgjk

(C) cQZ

(D) vkæZrk

58. lw;Z dk izdk'k lzksr gS %

(A) foVkfeu , dk

(B) foVkfeu ch dk

(C) foVkfeu lh dk

(D) foVkfeu Mh dk

59. fuEufyf[kr esa ls dkSu lk ,d uohdj.kh;

lalk/ku gS \

(A) isVªksfy;e

(B) ck;ksekl

(C) iou ÅtkZ

(D) buesa ls dksbZ ugha

60. fuEufyf[kr esa ls dkSu lh ty laj{k.k dh

fof/k ugha gS \

(A) o"kkZ ty lap;u

(B) Hkwty fu"d"kZ.k

(C) flapkbZ n{krk esa lq/kkj

(D) ikuh dh cckZnh dks de djuk

57. Moisture in the air is known as :

(A) Water

(B) Fog

(C) Snow

(D) Humidity

58. Sunlight is the source of :

(A) Vitamin A

(B) Vitamin B

(C) Vitamin C

(D) Vitamin D

59. Which of the following is a

renewable resource ?

(A) Petroleum

(B) Biomass

(C) Wind energy

(D) None of these

60. Which of the following is not a

method for water conservation ?

(A) Rainwater Harvesting

(B) Groundwater Extraction

(C) Improving Irrigation

Efficiency

(D) Reducing Water Wastage
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61. Hkksiky xSl =klnh fdl o"kZ gqbZ

Fkh \

(A) 1982

(B) 1984

(C) 1981

(D) 1983

62. cUn dejs esa dks;ys dh tyrh vaxhBh

j[kdj lksus ls e`R;q dk dkj.k gS %

(A) dkcZu eksuksvkWDlkbM

(B) lYQj MkbvkWDlkbM

(C) dkcZu VsVªkDyksjkbM

(D) ehFksu

63. os lalk/ku ftUgsa izkÏfrd ikfjfLFkfrd pØ

}kjk izfrLFkkfir fd;k tk ldrk gS] dgykrs

gSa %

(A) uohdj.kh;

(B) xSj&uohdj.kh;

(C) fuokZruh;

(D) izkÏfrd

61. In which year Bhopal gas tragedy

was occurred ?

(A) 1982

(B) 1984

(C) 1981

(D) 1983

62. Death while sleeping in closed

room with burning coal furnace is

due to :

(A) Carbon mono-oxide

(B) Sulphur dioxide

(C) Carbon tetrachloride

(D) Methane

63. The resources that can be replaced

by natural ecological cycle is

called :

(A) Renewable

(B) Non-renewable

(C) Exhaustible

(D) Natural
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64. lhihlhch dk iw.kZ :i D;k gS \

(A) lsaVj QkWj iksY;w'ku daVªksy cksMZ

(B) lsaVªy iksY;w'ku daVªksy cksMZ

(C) lsaVj iksY;w'ku daVªksy cksMZ

(D) buesa ls dksbZ ugha

65. mÙkjk[k.M dk jkT; o`{k gS %

(A) vksd

(B) ikbu

(C) cqjka'k

(D) nsonkj

66. i;kZoj.k fnol izR;sd o"kZ euk;k tkrk

gS %

(A) 21 ekpZ

(B) 2 Qjojh

(C) 5 twu

(D) 16 flrEcj

67. xaxk unh dk mn~xe LFky gS %

(A) cukjl

(B) xaxks=h

(C) dsnkjukFk

(D) #æiz;kx

64. What is the full form of CPCB ?

(A) Centre for pollution control

Board

(B) Central Pollution Control Board

(C) Centre Pollution Control Board

(D) None of these

65. State Tree of Uttarakhand is :

(A) Oak

(B) Pine

(C) Buransh

(D) Deoadar

66. Environment Day is celebrated

each year on :

(A) 21st March

(B) 2nd February

(C) 5th June

(D) 16th September

67. The origin of the river Ganga is :

(A) Banaras

(B) Gangotri

(C) Kedarnath

(D) Rudraprayag
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68. nhikoyh ds nkSjku iVk[kksa ds dkj.k

fuEufyf[kr esa ls dkSu lcls vf/kd

izHkkfor gksrk gS \

(A) i{kh

(B) rasnqvk

(C) fgj.k

(D) euq";

69. LoPN Hkkjr vfHk;ku 'kq: fd;k x;k

Fkk %

(A) 2 vDVwcj] 2014

(B) 2 vDVwcj] 2015

(C) 2 vDVwcj] 2016

(D) 2 vDVwcj] 2017

70. ,Dl&lhVw laj{k.k dk mnkgj.k dkSu lk

gS \

(A) jk"Vªh; m|ku

(B) fpfM+;k?kj

(C) ck;ksLQh;j fjtoZ

(D) vHk;kj.;

71. Hkkjr dk jk"Vªh; tyh; tho gS %

(A) Oyw Ogsy

(B) xaxk unh dh MkWfYQu

(C) 'kkdZ

(D) vkWDVksil

68. Which of the following is the most

affected due to fire cracker during

Deepawali ?

(A) Birds

(B) Leopard

(C) Deer

(D) Humans

69. The Swachh Bharat Abhiyan was

started on :

(A) 2 October 2014

(B) 2 October 2015

(C) 2 October 2016

(D) 2 October 2017

70. Which one is the example of ex-

situ conservation ?

(A) National park

(B) Zoo

(C) Biosphere reserve

(D) Sanctuary

71. The national aquatic animal of

India is :

(A) Blue Whale

(B) Ganges River Dolphin

(C) Shark

(D) Octopus
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72. fuEufyf[kr esa ls fdlus dgk Fkk fd izÏfr

gesa gj vkneh dh t:jr dks iwjk djus ds

fy, i;kZIr lkexzh iznku djrh gS ysfdu

gj vkneh ds ykyp dks iwjk djus ds fy,

ugha \

(A) egkRek xk¡/kh

(B) ljnkj cYyHk HkkbZ iVsy

(C) tokgj yky usg:

(D) lqHkk"k pUæ cksl

73. ,lMhth Dk gS \

(A) lLVsUM MsoysiesaV xksYl

(B) LekVZ MsoysiesaV xksYl

(C) 'kkWVZ MsoysiesaV xksYl

(D) lLVsuscy MsoysiesaV xksYl

74. fuEufyf[kr esa ls dkSu lk i;kZoj.k laj{k.k

vkanksyu mÙkjk[k.M esa 'kq: fd;k x;k Fkk \

(A) ueZnk cpkvks vkanksyu

(B) fpidks vkanksyu

(C) vfIidks vkanksyu

(D) mijksDr esa ls dksbZ ugha

72. Who among the following was said

that the nature provide us enough

to satisfy every man’s need but not

every man’s greed ?

(A) Mahatma Gandhi

(B) Sardar Ballabh Bhai Patel

(C) Jawahar Lal Nehru

(D) Subhash Chandra Bose

73. What is SDG ?

(A) Sustained Development

Goals

(B) Smart Development Goals

(C) Short Development Goals

(D) Sustainable Development

Goals

74. Which of the following environmental

conservation movement was started

in Uttarakhand ?

(A) Save Narmada Movement

(B) Chipko Movement

(C) Appiko Movement

(D) None of the above
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75. The word nature is derived from :

(A) Latin

(B) Greek

(C) French

(D) None of these

76. Which one of the following is the

major environmental issue ?

(A) Use of resources

(B) Use of economy

(C) Education

(D) Employment

77. GNP stands for :

(A) Gross National Product

(B) Gross National Purchase

(C) Gross National Premises

(D) Grand National Product

78. Which of the following is a

metallic mineral resource ?

(A) Gravel

(B) Copper

(C) Gypsum

(D) None of the above

75. izÏfr 'kCn dh O;qRifÙk fuEufyf[kr ls

gqbZ gS %

(A) ySfVu

(B) xzhd

(C) Ýasp

(D) buesa ls dksbZ ugha

76. fuEufyf[kr esa ls dkSu lk izeq[k i;kZoj.kh;

eqík gS \

(A) lalk/kuksa dk mi;ksx

(B) vFkZO;oLFkk dk mi;ksx

(C) f'k{kk

(D) jkstxkj

77. th,uih dk vFkZ gS %

(A) xzkWl us'kuy izksMDV

(B) xzkWl us'kuy ijpsl

(C) xzkWl us'kuy izsfelsl

(D) xzSaM us'kuy izksMDV

78. fuEufyf[kr esa ls dkSu lk /kkfRod [kfut

lalk/ku gS \

(A) dadM+

(B) rk¡ck

(C) ftIle

(D) buesa ls dksbZ ugha
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79. What is LPG ?

(A) Liquefied Petroleum Gas

(B) Legal Petroleum Gas

(C) Large Petroleum Gas

(D) Low Petroleum Gas

80. Vegetation and structure that cover

land area is known as :

(A) Surface

(B) Land Cover

(C) Vegetation Cover

(D) Tree Cover

81. Which of the following is the

reason of land cover change ?

(A) Increasing Population

(B) Urbanization

(C) Industrialization

(D) All of the above

82. Study of trends in human

population growth and prediction

of future growth is called :

(A) Demography

(B) Biography

(C) Kalography

(D) Psychology

79. ,yihth D;k gS \

(A) fyfDoQkbM isVªksfy;e xSl

(B) yhxy isVªksfy;e xSl

(C) yktZ isVªksfy;e xSl

(D) yks isVªksfy;e xSl

80. Hkwfe {ks= dks doj djus okyh ouLifr

vkSj lajpuk dks dgk tkrk gS %

(A) lrg

(B) Hkwfe vkoj.k

(C) ouLifr dk vkoj.k

(D) o`{k vkoj.k

81. fuEufyf[kr esa ls dkSu lk Hkwfe vkoj.k

ifjorZu dk dkj.k gS \

(A) c<+rh tula[;k

(B) 'kgjhdj.k

(C) vkS|ksxhdj.k

(D) mijksDr lHkh

82. ekuo tula[;k o`f¼ dh izo`fÙk;ksa dk

v/;;u ,oa Hkfo"; dh o`f¼ dh

Hkfo";ok.kh dgykrh gS %

(A) tulkaf[;dh

(B) thouh

(C) dyksxzkQh

(D) euksfoKku
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83. World Wetlands Day is celebrated

each year on :

(A) 21st March

(B) 2nd February

(C) 5th June

(D) 16th September

84. The largest natural freshwater lake

in India is :

(A) Pushkar Lake

(B) Pulicat Lake

(C) Wular Lake

(D) Vembanad Lake

85. Which of the following is the

natural hazard ?

(A) Earthquake

(B) Flood

(C) Landslide

(D) All the above

86. What is the backbone of the

economic system of India ?

(A) Livelihood

(B) Agriculture

(C) Employment

(D) Resources

83. fo'o vkæZHkwfe fnol izR;sd o"kZ euk;k

tkrk gS %

(A) 21 ekpZ

(B) 2 Qjojh

(C) 5 twu

(D) 16 flrEcj

84. Hkkjr esa lcls cM+h izkÏfrd rkt+k ikuh

dh >hy gS %

(A) iq"dj >hy

(B) iqfydV  >hy

(C) oqyj  >hy

(D) osEcukM  >hy

85. fuEufyf[kr esa ls dkSu lk izkÏfrd [krjk

gS \

(A) HkwdEi

(B) ck<+

(C) HkwL[kyu

(D) mijksDr lHkh

86. Hkkjr dh vk£Fkd O;oLFkk dh jh<+ D;k

gS \

(A) vkthfodk

(B) Ïf"k

(C) jkst+xkj

(D) lalk/ku



A–1108 VAC–09 ( 27 ) P.T.O.

87. Naturally occurring solid inorganic

substance known as :

(A) Mineral

(B) Resources

(C) Metals

(D) Elements

88. What is drought ?

(A) Heavy rainfall for a long

continuous period

(B) No rainfall for a long

continuous period

(C) Moderate rainfall for a long

continuous period

(D) None of the above

89. Snow leopard is found in which

National Park ?

(A) Kaziranga

(B) The Great Himalayan

National Park

(C) Bharatpur

(D) Nagarhole

87. izkÏfrd :i ls ik, tkus okys Bksl

vdkcZfud inkFkZ dks dgk tkrk gS \

(A) [kfut

(B) lalk/ku

(C) /kkrq

(D) rRo

88. lw[kk D;k gS \

(A) yxkrkj yEcs le; rd Hkkjh o"kkZ

gksuk

(B) yxkrkj yEcs le; rd o"kkZ u

gksuk

(C) yEcs le; rd yxkrkj e/;e

o"kkZ

(D) buesa ls dksbZ Hkh ugha

89. fge rsanqvk fdl jk"Vªh; m|ku esa ik;k tkrk

gS \

(A) dkthjaxk

(B) xzsV fgeky;u us'kuy ikdZ

(C) Hkjriqj

(D) ukxjgksy
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90. The heating of earth’s atmosphere

due to trapped radiation is known

as :

(A) Global warming

(B) Glass-House effect

(C) Thermal effect

(D) Green House Effect

91. The minimum thickness of plastic

carry bags permissible to use in

India is :

(A) 100 Microns

(B) 120 Microns

(C) 140 Microns

(D) 150 Microns

92. Disease aggravated by air pollution

is :

(A) Cholera

(B) Rheumatism

(C) Bronchitis

(D) Haemophilia

90. Qals (:ds) gq, fofdj.k ds dkj.k i`Foh

ds ok;qe.My ds xeZ gksus dks dgk tkrk

gS %

(A) Xykscy ok²ex

(B) Xykl&gkml izHkko

(C) FkeZy izHkko

(D) xzhu gkml izHkko

91. Hkkjr esa mi;ksx ds fy, vuqer IykfLVd

dSjh cSd dh U;wure eksVkbZ gS %

(A) 100 ekbØksu

(B) 120 ekbØksu

(C) 140 ekbØksu

(D) 150 ekbØksu

92. ok;q iznw"k.k ls c<+us okyh chekjh gS %

(A) gStk

(B) xfB;k

(C) czksdkbfVl

(D) gheksQhfy;k
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93. Acid rain contains :

(A) Sulphuric acid

(B) Hydrochloric acid

(C) Oxalic acid

(D) Acetic acid

94. Birth rate is called :

(A) Mortality

(B) Vital index

(C) Natality

(D) Viability

95. Death rate of the population is

called :

(A) Mortality

(B) Viability

(C) Natality

(D) Vitality

96. EIA is the :

(A) Economic Information

Awareness

(B) Environmental Information

Awareness

(C) Environmental Impact

Assessment

(D) Environmental Impact

Avoidance

93. vEyh; o"kkZ gksrh gS %

(A) lYQqfjd vEy

(B) gkbMªksDyksfjd vEy

(C) vksdlsfyd vEy

(D) ,lhfVd vEy

94. tUe nj dgykrh gS %

(A) e`R;q nj

(B) egRoiw.kZ lwpdkad

(C) uSVkfyVh

(D) O;ogk;Zrk

95. tula[;k dh e`R;q nj dgykrh gS %

(A) eksVsZfyVh

(B) O;ogk;Zrk

(C) uSVkfyVh

(D) izk.k

96. bZ-vkbZ-,- gS %

(A) bduksfed buQkWesZ'ku vos;jusl

(B) ,uok;uZesaVy buQkWesZ'ku vos;jusl

(C) ,uok;uZesaVy bEiSDV vlslesaV

(D) ,uok;uZesaVy bEiSDV voksbMsUl
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97. Public awareness of environment

creates :

(A) Environment protection

(B) Environment degradation

(C) Environmental cultivation

(D) None of the above

98. Rain water harvesting is a major

method implemented for :

(A) Soil Conservation

(B) Water Conservation

(C) Forest conservation

(D) Ecological conservation

99. State flower of Uttarakhand is :

(A) Brahma Kamal

(B) Marigold

(C) Rose

(D) Tulip

100. Which of the following is not

natural hazard ?

(A) Earthquake

(B) Flood

(C) Landslide

(D) Nuclear blast

97. i;kZoj.k ds izfr tu tkx:drk iSnk djrk

gS %

(A) i;kZoj.k laj{k.k

(B) i;kZoj.k dk {kj.k

(C) i;kZoj.kh; [ksrh

(D) buesa ls dksbZ Hkh ugha

98. o"kkZ ty lap;u fuEufyf[kr ds fy,

dk;kZfUor ,d izeq[k fof/k gS %

(A) e`nk laj{k.k

(B) ty laj{k.k

(C) ou laj{k.k

(D) ikfjfLFkfrd laj{k.k

99. mÙkjk[k.M dk jkT; iq"i gS %

(A) czã dey

(B) xsank

(C) xqykc

(D) V~;wfyi

100. fuEufyf[kr esa ls dkSu lk izkÏfrd [krjk

ugha gS \

(A) HkwdEi

(B) ck<+

(C) HkwL[kyu

(D) ijek.kq foLQksV
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Rough Work/jQ dk;Z
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Rough Work/jQ dk;Z


